WYKOP = 0,85m2
NASYP = 0,38m2

Pole pow. HUMUS ISIN. = 0,61m2

Pole pow.

P'K 1112,55 Pole pow.

[T

OZNACZENIA:

0,63m2
0,33m2

LZLA

WYKOP = 0,85m2
NASYP

Pole pow. HUMUS ISTN.

Pole pow.

I

P|l’< 1 050,74‘ Pole pow.

1

— proj. nawierzchnia bitumiczna
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— istn. humus do usuniecia

— proj. kraweznik bet.
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———1G6TI,

WYKOP = 0,30m2
NASYP = 0,70m2

Pole pow. HUMUS ISTN. = 0,65m2

Pole pow.

AT 77777 77

P'K 1 075,27 Pale pow.

0,49m2

WYKOP = 0,46m2
NASYP = (,19m2

Pole pow. HUMUS ISTN.

Pole pow.

P'K 1 098,29 Pole pow.

WYKOP = 0,60m2
NASYP = 0,14m2

Pole pow. HUMUS ISTN. = 0,41m2

Pole pow.

P'K 972,1 3 Pole pow.

WYKOP = 0,08m2
NASYP = Q,77m2

Pole pow. HUMUS ISTN. = 0,52m2

Pole pow.

T

P|l’< 997,4‘0 Pole pow.

WYKOP = 0,34m2
NASYP = 0,28m2

Pole pow. HUMUS ISTN. = 0,35m2

Pole pow.

P|l’< 1 024,84‘ Pole pow.

0,61m2

WYKOP = 0,86m2
NASYP = 1,41m2

Pole pow. HUMUS ISTN.

Pole pow.

P'K 897,38 Pole pow.

0,66m2

NASYP = 0,89m2

WYKOP = 0,65m2

Pole pow. HUMUS ISTN.

Pole pow.

P|l’< 924‘,22 Pole pow.

WYKOP = 0,66m2
NASYP = 0,14m2

Pole pow. HUMUS ISTN. = 0,50m2

Pole pow.

P|l’< 94‘8,50 Pole pow.

0,45m2

WYKOP = 1,90m2
NASYP = 0,10m2

Pole pow. HUMUS ISTN.

Pole pow.

P'K 827,38 Pole pow.

WYKOP = 1,93m2
NASYP = 0,01m2

Pole pow. HUMUS ISTN. = 0,52m2

Pole pow.

P|l’< 84‘4‘,57 Pole pow.

WYKOP = 1,17m2
NASYP = 0,56m2

Pole pow. HUMUS ISTN. = 0,49m2

Pole pow.

P'K 871 ,77 Pole pow.

0,36m2

WYKOP = 1,28m2
NASYP = 0,22m2

Pole pow. HUMUS ISTN.

Pole pow.

P'K 767,26 Pole pow.

WYKOP = 0,97m2
NASYP = 0,15m2

Pole pow. HUMUS ISTN. = 0,32m2

Pole pow.
Pole pow.

|

PIK. /91,18

WYKOP = 1,59m2
NASYP = 0,06m2

Pole pow. HUMUS ISTN. = 0,55m2

Pole pow.

P'K 81 4‘,60 Pole pow.

WYKOP = 1,52m2
NASYP = 0,03m2

Pole pow. HUMUS ISTN. = 0,42m2

Pole pow.

P'K 686,76 Pole pow.

0,65m2

i

WYKOP = 1,56m2
NASYP = 0,05m2

Pole pow. HUMUS ISTN. = 0,64m2

Pole pow.

-

P|l’< 71 2,52 Pole pow.

0,42m2

NASYP = 0,07m2

WYKOP = 1,40m2

Pole pow. HUMUS ISTN.

Pole pow.

P'K 737,72 Pole pow.

WYKOP = 0,71m2
NASYP = 0,38m2

Pole pow. HUMUS ISTN.

Pole pow.

P'K 600,00 Pole pow.

WYKOP = 0,82m2
NASYP = 0,22m2

A

Pole pow. HUMUS ISTN. = 0,60m2

Pole pow.
Pole pow.

PIK. 616,91
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WYKOP = 1,57m2
NASYP = 0,13m2

Pole pow. HUMUS ISTN. = 0,96m2

Pole pow.

P|l’< 64‘3,92 Pole pow.
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